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> aa<-c(1,3,10,12,6,3,8,4,1,5)

> aa

11 1 31012 6 3 8 4 1 5

> bb<-¢(20,40,100,80,50,50,70,50,10,60)
> bb

[1] 20 40100 80 50 50 70 50 10 60



REMR

> cor.test(aa,bb)
Pearson's product-moment correlation
data: aa and bb
t =6.1802, df = 8, p-value = 0.0002651
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.6542283 0.9786369
sample estimates:

cor
0.9092974

p-value = 0.0002651<0.05&Y, 5%NDH Z K% CIRE

ek (FHEAZRE=0) [XFEHND. /o T, MBFHEEE
HARBOFRORBIICITMEENHLHEEZS.
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N(50,10%)/MHn = 200)1@,‘:2: h %5000 %82V R L,
IR DEBRHZIRERDTHZTRDD.

> 12K F 5 <-numeric(length=5000)

> for(i in 1:5000){

+ {2 <-rnorm(n=20,mean=50,sd=10)
+ 2R EH[i]<-mean(1EXK)

+}

> hist(12 24 F13)
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> 53 ER<-1072/20

H
> 7 E
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> sd<-sqrt(43 &%)

> sd

[1] 2.236068

> hist(f£ 4 F15,freq=FALSE)

> curve(dnorm(x,mean=50,sd=sqrt(%#%)),add=TRUE)
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(2)ZREFELEH D
n=1,491625%H3 BEEDE;

> sd1<-sqrt(1/1)
> sd2<-sqrt(1/4)
> sd3<-sqrt(1/9)
> sd4<-sqrt(1/16)
> sd5<-sqrt(1/25)

AN (0, I PEOE
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> curve(dnorm(x,mean=0,sd=sd5),from=-2,t0=2)

( (
> curve(dnorm(x,mean=0,sd=sd4),from=-2,t0=2,add=TRUE
> curve(dnorm( from=-2,t0o=2,add=TRUE
> curve(dnorm(x,mean=0,sd=sd2),from=-2,t0=2,add=TRUE
( ( from=-2,to=2,add=TRUE

> curve(dnorm(x,mean=0,sd=sd1

)
)
Xx,mean=0,sd=sd3),
)
)

N N S N’
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0, sd = sd5)

dnorm(x, mean
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(1) IFEREREXMILIRERDERTE
5 % ﬂinﬁ 2DDEMIIIRIITH S (BFDIFZ 550
&, ‘fi‘fﬁrd)&?% RN ZIXERG A ELY)

SILRER : 2D DERICITERELH D (RFDIFS- IR
LhE, ETDIFE - BRUDMEIIRIITIEAELY)

(2) REMET=DER
(0, —E)? (0, —E,)° (Ox — E)?
2
X2 = . + E, 4 o .
(B) BB IKEaDRE

REMAENETH L=, FAIRETEGS.
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() REMETENDEIRE

HATFERDETHE

> HA#E EEH11<-12*14/20

> HR i EER21<-12"6/20

> A5 EER12<-8+14/20

> 35 EE#22<-8+6/20

> BiFFE<-c(HATFE 11 HAFE 221 B E 2012, BT E £022)
> BT E 2L

(1]8.4 3.6 5.6 2.4

> &R E #1<-¢(10,2,4,4)

> &R EE

(1110 2 4 4

> A ZEEFR<-(BRIER-HFER) 2/HFFEL
>HAZTEER

(1] 0.3047619 0.7111111 0.4571429 1.0666667

> WA ZF<-sum(BDM Z_FEEXR)

>hA4AZ%

(1] 2.539683 16




(5) IRE

-
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i ER D ZEENRIRDIRTE

BREMGTEXXIFERHFDOBLETEHE
df =2-12-1) = 10OIhAZFH/mIZHES.

> qchisq(0.95,1)
[1] 3.841459

> qchisq(0.05,1, lower.tail=FALSE)

[1] 3.841459

2.539683<3.841459THVY, %

BRI ZER SN,

> pchisq(2.539683,1,lower.tail=FALSE)

[1] 0.1110171
> 1-pchisq(2.539683,1)
[1] 0.1110171

0.1110171>0.05T&®Y, JRERERIEFEF SN,

LEKY, THHZEOIFE @k ETFFETDOIFE -V DORBIZIEE

BILERNHHEITE AL
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> curve
> curve
> curve
> curve

(d
(d
(d
(d

chisq(x,2),0,20)
chisq(x,1),0,20,add=TRUE)

),

),
chisq(x,4),0,20,add=TRUE)
chisq(x,8),0,20,add=TRUE)
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dchisq(x, 50)

> curve(dchisq(x,50),0,100)
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dchisq(x, 1)

> curve(dchisq(x,1),0,6)
> abline(v=qchisq(0.05, 1, lower.tail=FALSE))

1.5

1.0

0.0

21



chisq.testiZ & A& E

> JOREEH R <-table($2 #t)
> JOREKEHE
S
¥ BRUN IFE
LN 10 4
IFE 2 4

> chisq.test(V O X &5+, correct=FALSE)
Pearson's Chi-squared test

data: VOXREFHE

X-squared = 2.5397, df = 1, p-value = 0.111

ZEAyt—:
In chisq.test(V B R & & 3K, correct = FALSE) :

NABEFAELIFEENMEILNFEA ”



57 HOTINHARXRDBREFRZRANDEE
HAZFERTFIZBTAYUTIL A XDEE
#5.4 AXZICHITHERBOBERREENR - BRO5

gL EiZ g0 at
SR 16 4 20
R 12 8 20
sl 28 12 40

[ XRFEICHEANERFESEHRALEZEELGENSIERLAH S

JFESGR: HR R OEEOEEEXR - BRZDAIZILERMNLIL]
HAZFRETE AEKE=0.05

X? = 1.9048 < 3.841459  p = 0.1675 > 0.05
IRERERIEENEINGNSTE%DKETHEEWGERLN G 23




#®5.5 BARICBIIHUREOEBKRENR - BROF

BiELI @iz LIS 51
P& 160 40 200
B 120 80 200
51 280 120 400

[XRFPEICHEANEBRFPEFHEARZEELLEN 2 EIERNH D]

IR [HARORBREORFEL R -BROAIZILEREAZELN
NAZT’IRE BEKE=0.05

X? =19.0476 > 3.841459 p =1.275x 107° < 0.05
IR ER (T EINSN-T5% D KETHEELGZERLHS ]

ST AANELLERERBENEDYES
BTN A APNKRELGEI-BERZBRITIBEEICHTYDOTLY 24
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